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Faculty of Computers & Information Year 2018-2019
Data Mining and Business Intelligence

(1S414) First - term Exam
Date: 10/1/2018 Time: Three Hours
a. Data Recovery b. Data Detection c. Data Mining d. Data Variance

20. Optimization techniques that use processes such as mutation, and natural selection in a design based on
the concepts of natural evolution.
a. Knowledge Discovery b. Neural Networks c. Decision Trees d. Genetic algorithms

2. Suppose that a hospital tested the age and body fat data for 18 randomly selected adults with the
following results:? (10 points)

age 23 23 27 27 39 41 47 49 50
%%fat 9.5 265 7.8 17.8| 3l4| 259 274) 27.2| 312
age 52 54 54 56 57 58 58 60 61
Yfat| 34.6( 425 28.8( 334( 302 341 32.9| 412 357

(a) Calculate the mean, median, and standard deviation of age.
(b) Draw the boxplots for %fat.

1

3. Given two objects represented by the tuples (22, 1, 42, 10) and (20, 0, 36, 8): (10 points)
a. Compute the Euclidean distance between the two objects.
b. Compute the Manhattan distance between the two objects.

N

4. A database has five transactions. Let min sup = 60% and min conf = 80% Find all frequent
itemsets using Apriori? (10 points)

TID | items_bought
T100 | {M,O,N,K,E, Y}
T200 | {D,O,N,K,E Y}
T300 | {M,A,K, E}

T400 | {M,U,C,K, Y}
T500 | {C,0,0,K, L E}

5. Using 2 Statistic, test the hypnosis that Gender and Preference for cats or dogs are independent
known that the critical value is 3. Explain the correlation of the attributes. (10 points)

Cat Dog

Men 207 282

Women | 231 242
35l ol gt e
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“Academic Year
2018/2019
Level Four: (IS) Dept.
Information Assurance

ueryerrrm

e and Security |
aray e
Kafrelsheikh University (60 marks) Gt et |
2Pages i oemeen |
Date: 14/1/2019 Time: 180 minutes
Question number one: (40 Marks)
a. Choose the most correct answer: (30 Marks)

1) It happens when an application or system does not adopt controls to

properly track and log users' actions:
T

/@ Backdoors, [ b DoSatiack, |« Malware, | d. Repudiation, | d_ Eavesdropping, |
P g

2) Devise ways to prevent the weaknesses from being exploited:
i a. Security, _ c.Integrity, | d. Availability, | d. Confidentiality, |

3) A method of bypassing normal authentication, securing remote access to a
computer, obtaining access to plaintext:
i a. Backdoors, _ b. DoS attack, ‘ c. Malware,

d. Repudiation, | d. Eavesdropping,
P ping,

4) Takes the form of executable code, acting against the requirements of the
computer user:
_ a. Backdoors, | b. DoS attack, * . Malware,

d. Repudiation, | d. Eavesdropping,

5) Defined as the intersection of three elements: a system susceptibility or
flaw, attacker access to the flaw, and attacker capability to exploit the
flaw:

_ a. Security, m b. <=r_5w_5\.,7,.=3?§

d. Availability,

d. Confidentiality,

6) Sending invalid data to applications or network services until the server
hangs or simply crashes known as:
Backdoors, i b. DoSattack, | c. Malware,

d. Repudiation, i d. Eavesdropping, |

7) It Infects a system and lie dormant until triggered by occurrence of one or
more conditions:

[ & A Trojan horse,

b romﬂng:?_ . Time bomb, | d. ._.;Rocn_ d. A worm,

8) A feature in a program by which someone can access the program other
than by the obvious:
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a. A Trojan horse, | b. Logic bomb,
9) An autonomous code that spreads over a network, targeting hard drive

¢ Trapdoor, | d. >€EB‘_ d. A rabbit,

space and processor cycles:

i a. A Trojan horse, | b. Logic bomb, i c. Trapdoor, , n.>scﬁ; d >;§j

b. Use

DES Block Cipher (Key Creation) method to find K1 and K2, Given
K=1010000010 , and Permutation Choice PC-1 and PC-2 as P10 and P8 as
follows: P10=[71049682531] , P8=[107849635]. (10 Marks)

Question number two: (20 Marks)

a. Recognize the Threat Type for each of the following: (10 Marks)
1

Creating counterfeit of objects on a computing system .

2. Tllicit copying of program or data files, or wiretapping to obtain data in
anetwork .

3. Erasinga program or a data file, or malfunction of an operating system

file manager so that it cannot find a particular disk file .

4. Altering a program so that it performs an additional computation

b. Using C# Write a Program that implements steganography encryption
technique (information hiding). (10 Marks)

Best Regards

Dr/ Mai R, Ibrakicem
L Page 2 of 2
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Kafrelsheikh University
Faculty of computers and
information

4t Jevel IS Final Exam
Date: 17 /1/2019

Subject: Web
Information Systems
Time allowed: 3 hrs.
Pages: two Pages

Question 1: [16 Marks]
1.1. Define Web Information Systcsu? List three example of WIS?

1.2. Draw the block diagram of Architecture for Web-IS? Write a short note about
each part of diagram?

1.3. list and classify the main Core Technologies used in WIS?

Question 2: [16 Marks]
2.1. What is server-side processin

2.2. List Advantages and Disadvastages of Common Gateway Interface?

2.3. List and write a short note about Server Components

Question 3: [16 Marks]
3.1. How does CGI at work? List CGI Advantages and Disadvantages

3.3. Write a short note about Serviets?

3.4, What are server-side includes (SSI)? Why use SSI?

Question 4: Choose the correct answer [12 Marks]

1- in Web-IS architecture the layer that responsible for interacting with application

logic components is

a) Presentation layer
b) application layer
¢) resource management laycr
2- The server component that caches results (HTML documents, images) of an
HTTP request to improve response time for static information requests is
a) DB-Server
b) Communication-Server

c) Proxy-Server
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3- which of the following is not Server-side technology.
a) CGI
b) AJAX
c) SSI
4- in what technology the user perceives web application as faster, due to
asynchronous loading of data.
a) AJAX
b) ASP
¢) HTML
5- eeeerreerenen. Can include COM/ActiveX components and/or compiled code.
a) PHP
b) ASP
¢) CGI
6- which one of the following can not be a Client of the servlet
a) Browser
b) Applet

c) Servlet

with my best wishes Dr: Reda M. Hussien
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Undergraduate Program |
Academic Year
2018/2019
Final Enterprise

Architecture (IT441) | &
(60 marks)

o s College of Computers and
7’5?_“.:.:. Univer 2 Pages | Information
Date: 31/12/2018 Time: 180 minutes
Question number one: (40 Marks)
a. Choose the most correct answer: (30 Marks)
1. A system that approximates the way a human sces, hears, and feels objects known
Y PP Y
as:
["a. Expert [ b Vision c. Perceptive d. Learning, e.none is
Systems, | system, system, systems, true

2. Which conflict rule that, once a rule has fired, it may not fire again until the working
memory elements that match its LIS have been modified:

W. Refraction, | b. Recency T. Specificity, | d. Heuristic control, i e.none is true |
3. Displaying how a result has been achieved, done by which feature of Production
 System:
a.Modularity, | b.Efficiency, | c. Seperation, | d. Tracing and

e.none is
| true

4. Which conflict rule that provide functions to evaluate the strength of each rule:
[ Refraction, [ b Recency, _ <. Specificity, * d_Heuristic control, ; e none is n_ﬁ

explanation,

5. Which features of Production System, that supports the incremental development of
production systems by successively adding, deleting, or changing the knowledge

(rules) of the system:
€. none is true

7 a Modularity, | b. Efficiency,
6. Which conflict rule that, matches fewer potential working memory situations:
* a. Refraction, W b. Recency, % c. Specificity, _ d. Heuristic control, _ e.none is E.ml‘

<. Seperation, | d. Tracing and

explanation,

7. Independency of Rules and the “recognize-act” algorithm done by which feature of
Production System:

a.Modularity, | b. Efficiency, | c. Seperation, | d. Tracing and e.noneis S_J
explanation,
8. Compares each rule stored in the knowledge base with facts contained in the
database:
a. Rule-based b. Inference | ¢. Inference d. Tracing and €. none
Expert System, Engine, | Chain, | explanation, true
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9. A system that Explain their reasoning or suggested decisions, draw conclusions from

complex relationships:
a. Expert . Vision c. Perceptive d. Learning [ none is
Systems, system, system, systems, true

10. Which conflict rule that, prefers LHSs matched with the newly added working

memory items:
Refraction, _ b. Recency, T Specificity, ; d. Heuristic control, | e. none is true

11. Indicates how an expert system applies the rules to reach a conclusion:

a. Rule-based Expert | b. Inference c. Inference ‘Tracing and e.none is.
System, Engine, Chain, explanation, | true
b. Describe Zachman framework approaches for describing the elements of
enterprise architecture? (10 Marks)
(20 Marks)

Question number two:

a. Suppose there is a relation called emergency with slot "Type". Then if the emergency
"Response activated”, assume the rule name is "Danger”.

(10 Marks)
Emergency

| Typerfire"

"Fire" the system prints

Write clips program to solve the following.

Response activated

b. EA benefits can be realized in a four different categories, illustrate each of

them and graph the relations among them: (5 Marks)

c. Using a graph, highlight the gap analysis between the current and future

Technology Architectures. (5 Marks)

Best Regards

Dr/Mai Ramadan Page 20£2
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Kafrelsheikh University
Faculty of Computers & Information

Full marks: 60
Date: 3/1/2019

Subject: Advanced Database Pages (2)
Time Allowed: 3 Hours
Code: 1S411
Questionl: {20 points)

Write the difference between:

1- Interleaved and parallel processing of concurrent transactions.

2- The lost update and dirty read problem.

- OLTP and OLAP.

w

4- Roll-up and Drill-down operations.

5- Star and Snowflake schema.

Question2:

Write short notes:

1- ACID properties

2- ETL Manager

3- Supervised Leaming
4- Data Mart

5- Transaction States

(10 points)

(5 points)

write_item(X);

(Al A i)
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(10 points)

Mark the following sentences with True or False and correct the false ones:

1= S: 1(X); 12(X); Wi(x); 11(y); Wa(X); €23 Wi(y); €1 is cascadless. (
2- St 15(x); 13(x); W3(x); 11(y); Wi(X); €3; 11(X); ©15 s strict. (
3- S:1y(x); Wi(x); 1i(y); Wiy); ra(X); wa(x); is not serializable. (¢
4- Sz 1y(x); wi(0); Ti(y); 12(X); Wa(X); €5 Wi(y); €1, is non recoverable. (
5= 82 1p(x); Wa(X); €23 1a(X); WilX); 1i(y); wa(y); € s striet (

(15 points)

1. Categories of OLAP Servers.
2. Different techniques of data mining.

3. How to protect databases against threats?

ALy cgml
Gl Al g
Dr. Diana Fhanwat Mesa
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Faculty of Computers & Information Year 2018-2019

Data Mining and Business Intelligence .: s
(1S414) First - term Exam

Date: 10/1/2018 Time: Three Hours

L Select the correct answer (please include the number and the word of your choice) (20 points)

attribute value represents some kind of category, code, or state.

a. Nominal b. Numeric c. Ordinal d. Boolean
2. attribute has only a finite or countably infinite set of values which may or may not be represented
as integers.
a. Discrete b. Continuous . Nominal d. Interval
3 is the value that occurs most frequently in the data set
2. Mode b. Mean c. Median d. Midrange

4. The concept of voting for classification and combining the predicted classifications from multiple models,
or from the same type of model for different leaning data.

a. Bagging b. Boosting c. Drill-Down analysis d. Feature Selection
5 _____is random error or variance in a measured variable
a. Inconsistent data b. Fault data c. Noise data d. Incomplete data
6 combines data from multiple sources into a coherent store
a. Data Collection b. Data aggregation c. Data Integration d. Data consistency
7 detecting real world entities from multiple data sources
a. Data Detection b. Object recognition  c. Entity identification d. Entity Detection
8 wolves finding the best line to fit two attributes (or variables) so that one attribute can
be used (o predict the other.
a. Normal Regression b. Non-linear c. Linear regression d. Binary Regression
Regression
9. is the distance between the Q1 and Q3 is a simple measure of spread that gives the range
covered by the middle half of the data.
a. Midrange b. Interquartile Range ~ c. Correlation Co-cfficient d. Variance
10. indicate how spread out a data distribution is.
a. Mean b. Standard Deviation  c. Correlation Co-efficient d. Central Tendency
a set of items or subsequences that repeat in a data set
a. Repeated item set b. Frequent item set c. General item set d. Maximal itemset
12. Fill in missing values, smooth noisy data, identify or remove outliers, and resolve inconsistencies
a. Data Reduction b. Data cleaning c. Data Clustering d. Data Classification
13 1n , the data arc replaced by alternative, smaller representations using parametric or
nonparametric models
a. Data Integration b. Data Cleaning ¢. Data Representation d. Data Reduction
14, Handle noisy data by
a Binning b. Clustering c. Regression d. All of the above
is a data field, representing & characteristic or feature of a data object
a. Tuple b. Entity c. Data set d. Attribute
16. is a useful method for providing a first look at bivariate data to explore the possibility of
correlation relationships
a. Variance Plot b. Boxplot . Quantile Plot d. Scatter plot
17. One of the central tendency measures is
a. Median b. Variance ¢. Standard Deviation d. Correlation
18 Graph display of tabulated frequencies, shown as bars
2. Q-Q plot b. Histogram ¢. Correlation plot d. Analysis plot
19 the process of analyzing data from different perspectives and summarizing it into useful
information.




